2 The diagram shows a patio in the shape of a rectangle.
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The patio is 3.6 m long and 3 m wide. &

Matthew is going to cover the patio with paving slabs,
Each paving slab is a square of side 60cm. ¢ . (C —~n 2

Matthew buys 32 of the paving slabs.

(a) Does Matthew buy enough paving slabs to cover the patio? — 7. Q
You must show all your working. =
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The diagram shows the cross-section of a solid prism.

The length of the prism is 2 m. N = ) LIISE 2 2
The prism is made from metal. e 4 SO0 WM

The density of the metal is 8 grams per cm’,
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Work out the mass of the prism.
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Work out the total surface area of the triangular prism.
Give the units with your answer.
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Work out the volume of the triangular prism.
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Work out the total surface area of the triangular prisad. <’Z )
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Calculate the area of this right-angled triangle. ———7 - ‘ Z
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12.

Diagram NOT
accurately drawn
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ABC is a right-angled triangle.
AC =6 cm,
BC = 14 ¢cm.

(a) Work out the area of triangle ABC.
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Work out the area of this right-apgid triangle.
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7. The diagrams show a right-angled triangle and a rectangle.
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The area of the right-angled triangle is equal to the area of the rectangle.

Find the value of x.



Tox
Ox(+t3T19) =6



